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1)

Calculate the result.

a)7-2+4-8=14+32=46
¢)3-7+6-5=21+30=51
e)4-9+2-5=236+10 = 46
g)6-6+4-7=236+28=064
)6-5+8-9=230+72=102

2)
Calculate the result.

a)9-4—6-5=236—-30=06

)4-4—8-2=16—16=0
)2-7-2-3=14—6=28
£)3-9-6-2=27—-12=15

i)5-7—5-7=35—-35=0
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3)
Calculate the result.

a) 7T-5+2-6=235+12 =47
)8 5+7-6=40+42 = 82
e)5-5—5-5=25—25=0
g) 6-T—7-6=42—-42=0
i)7-54+9-6=235+54=289

4)

Calculate the result.

a)8-4+4-6=232+24=56
¢)5-4+4-3=20+12=32
) 5-7T+6-4=235+24 =59
g)4-54+7-5=20+35=55
)9-8+7-8="72+56=128
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b)5-643-8=230+24 =54
A)4-44+4-7=16+28 = 44
£)3.-8+8-5=24+40 =64
h)3-34+42:2=9+4=13

i)5-4+4-9=20+36 =56

b)7-3—-7-2=21—-14=7
)3-5-5-2=15-10=5

)2.-8-3-5=16—15=1

h)8-6—-5-5=48 — 25 =23

j)4-7T—6-4=28—24=4

b)3-3+7-9=9+63="72
)5-8—5-4=40—20 = 20
3.8-3-8=24-24=0
D) 5-6-4-6=30—24=6
4-944-5=36+20 =56

b)4-4+8-3=16+24 =40

d)8-7+8-6=>56+48 = 104

£)9-6+74=>54+28 =82
h)8-8+2-5=64+10="74
HT7-442-5=28+10=238
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Good Luck!
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